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~A way to measure a mountain and a bank ~
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IRHNEBER~Modern language translation~
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HEEER~English version~

You make a pole of 360cm from under the mountain.

You place a bamboo at a right angle from previous pole.

You make stand a pole from there and nail on rocks and trees.

You repeat this 5 times,then you find that height is 1800cm.

You also adjust the length of five bamboo,then you find that half of the

bottom side is 1260cm.

In order to find the length of the diagonal,you assume 1800cm of
vertical length 30cm and you assume half of the base 1260cm.
Then you make the from of the right —angled triangle.

You return rank and know it with 2160.6cm when you measure

diagonal length because it is 36.6cm.

When | square length and breadth about the calculation method each
and make up and take V,it becauses the diagonal length.

L= [EF= N

F EH~Summary~ « SEDFEBE~Future tasks~
A8 ~Impressions~

F&H~Summary~

COEFER. LOBODREERDEOICET BUE
BETD. ZRZAVLOESZasL, ILOEDZEbEL, W
DRDHECELT, cERLETIERAZANVICZEADEE
ZHTIEHTERO=LEEEZFENTOREMIZET,
FER—Lengh of the mountain to find the diagnal of this
mathematicus book firstly do unit conversion and height
of the mountain stands for a base of mountain stands for
b and a. Slope of the mountain stands for c. c stands for
the bypotenuse of a right triangle and it conform to the
pythagorean theorem. And it goes back up to an original

unit using similarity ratio if we apply it.
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%48 ~Impressions~

ZEEBER~English version~

1The height of mountain 10f&la(1f§=180cm)—1800cm

2From the edue during the beginning of the base of the mountain—1260cm
X 2fE x 5=10f4]
Thus, 1-1R(30cm)a?, 2—75tb2(1F—1sun)

We evaluate c by using a metal measure and Pythagorean proposition.

a2=30cm
b2=21cm
—¢'2=302+212
¢2=1341
c=36
Using homothetic ratio, a:a2=c:c?
1800:30=c:36
¢c=2160
Thus,2160cm
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FER—It was difficult to correct an archac word in
modern language at first.And solving the problem so

hard,we did not advance.But in looking up words
which we didn’t know a dictionary ,asking our teachr

aren’t used to.

So we asked each other many times and checked.So we can
be able to change a unit and can solve the problem smoothly.

and discussing , we found problem of what kind of
mathematicus and the way to solve it.
We felt hard that we did unit conversion which we
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